Relaciones Inversas (E)

7% 12 =84
12x =84
84+ =

84 +7=
7 % 8 =56

8x =56
_ +8=7

56+7=_
11 x5=55

 x11=55
55+ =11
55+11=_
11 x 6 =66

6x =66
66+ =11
= 11=6
9 x 11 =99

_ x9=99
 +11=9
99+ =11

Llene los espacios.

9 x 11=99
11x9=_
99+ =9
99+ =11
5x11=55

_ x5=55
55+11=
55+ =11
9 x9=8]

9x =81
81 +9=_
_ +9=9

7x11=77

 x7=77
77+ =7
77+7=__
5% 12 =60

_ x5=60
60+ 12=_
60+5=_

12 x 5=60
X 12=60
 +5=12
60+ =5
5x6=30
6x =30
30+ =5
30+ =6
9 x 6=>54
6x =54
 +6=9
54+9=
5x5=25
5x5=_
25+5=_
25+ =
8 x7=56
_ x8=56
56+7=_
56+8=

11x11=121
11x11=__
121+ =11
121+11=
5x9=45
_ x5=45
_ +9=5
+5=9
7x11=77
11x =77
s 11=7
77+ =11
8 x 7=56
Tx8=
_ +7=38
56+8=
6% 11 =66
11x =66
66+11=
66 + 6=
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